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J| 302,000
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01 At 22l 2,900 1,550 1,350
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OSM2 MM 2 RS S SYRH 28
100,000 »2H x53| 1,000
OsttE JAXNEA 7 &
100,000 »2H x53| 1,000
301 EHZ 900 900 0
09 HALAHIX RS 900 900 0
OUZAl & st BHEHA SAX o4l
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Al 14,400
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Osttg 28 M2MF10 X X
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Oo=24d=+¢ 1,820
—SUsE U ABMNANH N 294
70,000 *13H »23] 1,820
301 LA S 4,750 9,500 A 4,750
< 1,045
Al 3,705
02 Zet=¢eka 4,750 0 4,750
Osoge e sit=2 X3 950,000& x5H 4,750
S 1,045
Al 3,705
307 gl2tol & 234,000 95,400 138,600
< 46,800
Al 187,200
02 PIZHEHAHE L 234,000 95,400 138,600
Odsoige d=sbtefd X
200,000& *1,300H x90% 234,000
< 46,800
Al 187,200
S0 A+ 1,908,000 1,761,000 147,000
< 763,200
Al 1,144,800
301 gEEH = 1,908,000 1,761,000 147,000
< 763,200
Al 1,144,800
12 JIEHE4 = 1,908,000 1,761,000 147,000
Os0g 32 XA 600,000& +3, 180H 1,908,000
= 763,200
Al 1,144,800
sl 28 502,546 323,752 178,794
= 71,892
< 62,175
Al 368,479
shtAs S 27,000 53,500 A 26,500
307 glz2tol & 27,000 27,000 0
02 It MAHEE 27,000 27,000 0
ozed s 20,000,000& =14 20,000
Ol RAel8 4=EXA 7,000,000& » 14 7,000
ddsgy =4 72,060 28,240 43,820
< 5,760
Al 66,300
201 £B-2d| 560 840 A 280
01 At 22l 560 840 A 280
OFSBASH DAY Mols 2% =g
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202 Od4dl 1,200 2,400 A 1,200
01 201l 1,200 2,400 A1,200
OFSASY HOALEA O
100,000 »3H »43| 1,200
301 LEMZ 27,800 25,000 2,800
< 5,760
Al 22,040
12 JIEBHE4 = 27,800 25,000 2,800
Oz edsitE skd 600,000& »15AH 9,000
< 2,000
Al 7,000
ORI, 2% X HEH(12ha)
6,800,000 » 14l 6,800
< 1,360
Al 5,440
O3 =sdHN =4 XA 800,000& *15ha 12,000
< 2,400
Al 9,600
307 gl2tol & 42,500 0 42,500
02 It M AHE L 42,500 0 42,500
ORJIZE 2 FIXA (X))
1,700& x25,000L 42,500
detdsgy AFX=H 10,000 10,000 0
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301 LA F 10,000 10,000 0
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12 JIEtE &= 10,000 10,000 0
O3 =ZHERNEAM 1,000,000& *10ha 10,000
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sII&2dlg XN& 81,492 81,492 0
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Al 30,560
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= 7,500
< 1,200
Al 1,600
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= 7,500




SN sYEUY
M stASE oHF
el sgllE B2 (el &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
=) 1,200
Al 1,600
02 IZtE M AHEE 10,300 13,420 A 3,120
OE2MEH S=(408) 10,300, 0003 * 14! 10,300
= 7,500
< 1,200
Al 1,600
Foff OfMEE2 ZEAL X3 At 1,320 0 1,320
= 660
< 198
Al 462
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(= 5,950
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8,000& x125H 1,000
< 300
Al 700
12 JEEd = 200 200 0
OMELIE & A 233 A&
50,0003 x4H 200
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04 QIZFHALAIH E = 25,200 25,200 0
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O&E=se AtElUs & A X
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OAHE SlYLIsHA XN (ML)
2,700,000& x13] 2,700
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301 LEXZ 6,000 0 6,000
= 2,400
Al 3,600
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RS2 HE X&
200,000& =600} 21 *50% 6,000
= 2,400
Al 3,600
2020l 543 +>=H XA 55,410 0 55,410
= 3,150
Al 52,260
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